


















22Dowel Ø10*40mmA Cheville

08

Bolts 1/4"*25mm

B

Boulons
52

Bolts 1/4"*35mm

C

Boulons
D

E

G

H

I

J

N

L

M

K

Bolts 5/16"*40mm

02

Bolts 1/4"*60mm

02

Bolts 1/4"*70mm

18

Bolts 1/4"*80mm

14

Bolts 1/4"*100mm

14

28

Boulons

Boulons

Boulons

Boulons

Boulons

Bolts 1/4"*120mm 14
Boulons

Cross dowel 1/4"*13mm 88
Cheville croisée

13
Hex bolts 1/4"*15mm

Boulons hexagonaux

12

15

O

No. QTYOUTLOOK DESC

ASSEMBLY TOOLS REQUIRED (NOT INCLUDED)/OUTILS D'ASSEMBLAGE REQUIS (NON INCLUS)

F

Bolts 1/4"*20mm
Boulons

14Screws #6*12mm
Des vis

Round head screw #7*15mm
Vis à tête ronde

Round head screw #7*25mm
Vis à tête ronde

 Hardware List (  Box 1 - N708P246922)
 Liste du matériel  ( Box 1 - N708P246922 )

Page: 10 of 70/ Page: 10 sur 70





No. QTYOUTLOOK DESC

ASSEMBLY TOOLS REQUIRED (NOT INCLUDED)/OUTILS D'ASSEMBLAGE REQUIS (NON INCLUS)

AE 02Wood support
Support en bois

 Hardware List (  Box 1 - N708P246922)
 Liste du matériel  ( Box 1 - N708P246922 )

Page: 12 of 70/ Page: 12 sur 70

Bolts 1/4"*30mm
Boulons

03AF





































































































STEP 60
Étape

SCAN ME

Assembly Video

SCANEZ-MOI

Vidéo d'assemblage

AF

L

03

03

L

AF
AC

AC

STEP 59

Page: 62 of 70/ Page: 62 sur 70


















	Sheets and Views
	Model

	Sheets and Views
	Model

	Sheets and Views
	Model


